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Unit 2 Test 2 Review - Quadratic Equations

1. When solving the equation x* — 8 —7 = 0 by
completing the square, which equation is a step in

the process? Xi'%'ﬂﬂ_u_’_:-]ﬁf.
(x-u)* =23

a. (x-4)"=9

(k-4 =23

T (x-8'=9
d (x-8'=23

2. Solve the following system of equations for

y=2x'-3andy=2x+1 :
0 lgeby a

Ov
AxH=2%-3

~Fred's teacher gave the class the quadratic function
flx) = 4x" +16x+9.
a) State two different methods Fred could use to
solve the equation fi{x) = 0.

0 grapy Bcomplae O

@) fachr  @Quadiahc
formula

b) Use the quadratic formula to solve the equation.

¢ -~ = (v -4@EK9)
2(4)

Xz ﬂlbt—g Hg-_ ._Il'_‘*ii

2(4) ¥

g 1

ﬁ

4. Write a standard form quadratic equation that has

zeros at -5 and 4. (X'f 5) (vx_.,__l)

= X?'-'L'le%X'ZO
| = X"+ %X-20
5. Considm\ﬁ%mm;g&r—i

a. Rewrnite the i‘url-:a:tinn rule in vertex form.

= (-3) +6(3) 4= 1>

lﬂ : (ma‘i"-’l&J

b. Determine the coordinates of the maximum or

minimum point of the graph of this functio
(-3,-13) M ﬂ‘]

¢. Solve the equation x° +6x -4 =0.
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© 6. Solve the following quadratic equations using the given method.

a.x  +60+38=13
(Completing the Square)

Y2HOX 1A =-2% 4

(%+2)" = -l
Xt3 = *H

.2’ -9%+10=0 ;0
(Factoring)
NG
2?‘\ =S5%-4x+I0 -
X(2x-9)-22%-5
(2x-5)(x-2)=0
N
S
) [

Solve the ao:p.latilr:rn::c2 — ldx = 40

XE4Uxty0 -0
(x-q)(xilo):o

W0
%
A
El

Write the quadratic function f{x) = (x—2)° +4 in
standard form. Then describe the transformations
from the parent function.

K Ix-2x+Y +Y
ur‘i\l-LI Xtg

- —r
m

b.5x —Tx+13=10

(Quadratic Formula
,(-1) ¥ MS\(lﬂ
2[5) r
_arfn [z

T2y \0 |

d.x* -64=0

(Factoring)

(x+8)(x-8)= 0

& y

-3

9.

10.

Find the zeros of the function f{xj 2’ —4x -6

2(X"-2%x-3
1((x 3)(x+1)

P
&

State the discriminant for each equation. How
many s::-lutmns (and what type) do each of the

loving s 5T 3.4 (1) () = O
axt—-6x+11=2
: Lyeal
r- (pnffﬁ r ]

(V-4 =-3
c. Ix2+5x=12 \__gﬂmqjl m'ﬂ

2V45%-12=0  (5) -4 (3)(- 2)
\\o?

b.x2+x+1=0
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Solve:

11. Where does thegraph of x* — 6 + 8 cross the

x-axis?

n"mm\c o lgebva
R AR (‘ﬂ“‘*\(“ -2)
qapn 1fnd

[2] %2
[200(40)]

Solve the quadratic equation.

15. Solve using the quadratic formula: Ix? +5x = 1]

5)&L+‘5x~u=0
2(5) P

Find a quadratic function that has roots at 7 and -2
and the “a” value is 1. Write your final answer in

standard form.

(x-(xt 2)
X2+ 2x- 1% -4

e

16.

[

3

S

ID: A
U
12. Factor: x° + ldx + 48 w
(x10)(xt8)|
g =
S
13. Factor: 5z’ = 22x — 13 Is <
5 D
rx +3)(% Sj A

Factor: 9x’ — 16

(3xt4)(3%-4)

14.

When completing the square, what number would
h-e added to both sides?

x! + 2+

17.

=3+

3y{1]

18. Solve the following system of equations:

W ClC Sy olgelovd
\itf x4 X-Y:= x*
.= X* chl- x+Y
(Arogh) )% -0

h |
x—-li

%cm\\
yeal
E Soluhions i
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Find a quadratic model for the set of values.

19. (-2,-20), (0, -4), (4, -20) \n CﬂlCl g‘rﬁ'{' m _L..‘. _I:.E.. lSTPfr;—?CG\G
' T W

0 -y

H -0 [Ent]

[y rcy

20. Dalco Manufacturing estimates that its weekly profit, P, in hundreds of dollars, can be approximated by the
formula P = -3x" + 6x + 10, where x is the number of units produced per week, in thousands.

a. How many units should the compar week to eam the maximum profit? I'l ﬂ C a\ c’
‘t unH‘i @
b. Find the maximum weekly m mmx

$12 (1.3)

21. Identify the vertex of the function y = —3{x + 2% +5 S
m tdL
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